A semicircular thin plate has constant density, a radius of 10 cm, and a mass of 400 g. Find the mass moment
of inertia of the plate around the axes (a) x" and (b) z’ passing through point A.

—

1A Ya {:W\d XX/A l' IZ,ZIM_

»ny | ,
y
A X
(T dy , A
25 X
A 0—Z> A j —L °T
SIDE VIEW lé_ FRONT]VIEW
From previous Pm\ow/\
—]:22,&—' —LW’Y — ™ ( )
1—><>< G = '—qVV\( -’\/Vl %}—)
g2 U<E€s -
pormlle] o . d (ﬁ) v
_(:zi/l\ =leze v A

= jvmr - 2 (OL“‘3> (0' \""‘>
Z 2

FIZ%;A - 0. 006 kﬁ"w'z

E'xl/ Txx,G N VM\Z Z (gfr)

- o[ wloe]
Taxo

S ;4 ,{04@)[0\@

Z
Tan = 0-001K37" |



iPad (2)

iPad (2)

iPad (2)

iPad (2)

iPad (2)

iPad (2)

iPad (2)

iPad (2)

iPad (2)

iPad (2)

iPad (2)

iPad (2)

iPad (2)

iPad (2)

iPad (2)

iPad (2)

iPad (2)

iPad (2)

iPad (2)

iPad (2)

iPad (2)

iPad (2)

iPad (2)

iPad (2)

iPad (2)

iPad (2)

iPad (2)

iPad (2)


